Debtor 1 Debtor 2 (Spouse, if filing) United States Bankruptcy Court for the: Northern District of Georgia Case number

Station 1 RECEIVED

AUG 0.8 2017

American Legal Claim Services

177 Beaulieu Group 17-41677



Claim 1018

Official Form 410

Proof of Claim

04/16

Read the instructions before filling out this form. This form is for making a claim for payment in a bankruptcy case. Do not use this form to make a request for payment of an administrative expense. Make such a request according to 11 U.S.C. § 503.

Filers must leave out or redact information that is entitled to privacy on this form or on any attached documents. Attach redacted copies of any documents that support the claim, such as promissory notes, purchase orders, invoices, itemized statements of running accounts, contracts, judgments, mortgages, and security agreements. Do not send original documents; they may be destroyed after scanning. If the documents are not available, explain in an attachment.

A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5 years, or both. 18 U.S.C. §§ 152, 157, and 3571.

Fill in all the information about the claim as of the date the case was filed. That date is on the notice of bankruptcy (Form 309) that you received.

	Part 1: Identify the C	laim	
1.	Who is the current creditor?	Name of the current creditor (the person or entity to be paid for this country to the current creditor used with the debtor	tax 10# 62-111183
2.	Has this claim been acquired from someone else?	No Yes. From whom?	
3.	Where should notices and payments to the creditor be sent? Federal Rule of Bankruptcy Procedure (FRBP) 2002(g)	Where should notices to the creditor be sent? Ond - Monvol Conp. Name Adams Road Number Street Street State City State Contact phone Contact email Uniform claim identifier for electronic payments in chapter 13 (if you are contact entitled).	Where should payments to the creditor be sent? (if different) Name Number Street City State ZIP Code Contact phone Contact email
4.	Does this claim amend one already filed?	No Yes. Claim number on court claims registry (if known) _	Filed on
5.	Do you know if anyone else has filed a proof of claim for this claim?	No Yes. Who made the earlier filing?	к.

F	art 2: Give Information	on About the Claim as of the Date the Case Was Filed		
6.	Do you have any number you use to identify the debtor?	No Yes. Last 4 digits of the debtor's account or any number you use to identify the debtor:		
7.	How much is the claim?	S 43,645.68 Does this amount include interest or other charges? No Yes. Attach statement itemizing interest, fees, expenses, or other charges required by Bankruptcy Rule 3001(c)(2)(A).		
8.	What is the basis of the claim?	Examples: Goods sold, money loaned, lease, services performed, personal injury or wrongful death, or credit card. Attach redacted copies of any documents supporting the claim required by Bankruptcy Rule 3001(c). Limit disclosing information that is entitled to privacy, such as health care information. Parts 501d and service work performed		
9.	Is all or part of the claim secured?	No Yes. The claim is secured by a lien on property. Nature of property: Real estate. If the claim is secured by the debtor's principal residence, file a Mortgage Proof of Claim Attachment (Official Form 410-A) with this Proof of Claim. Motor vehicle Other. Describe: Basis for perfection: Attach redacted copies of documents, if any, that show evidence of perfection of a security interest (for example, a mortgage, lien, certificate of title, financing statement, or other document that shows the lien has been filed or recorded.) Value of property:		
10). Is this claim based on a lease?	No Yes. Amount necessary to cure any default as of the date of the petition. \$		
1'	. Is this claim subject to a right of setoff?	☐ Yes. Identify the property:		

12. Is all or part of the claim entitled to priority under	DANO				
11 U.S.C. § 507(a)?	Yes. Check one:	Amount entitled to priority			
A claim may be partly priority and partly	Domestic support obligations (including alimony and child support) under 11 U.S.C. § 507(a)(1)(A) or (a)(1)(B).	\$			
nonpriority. For example, in some categories, the law limits the amount entitled to priority.	☐ Up to \$2,850* of deposits toward purchase, lease, or rental of property or services for personal, family, or household use. 11 U.S.C. § 507(a)(7).	\$			
	□ Wages, salaries, or commissions (up to \$12,850*) earned within 180 days before the bankruptcy petition is filed or the debtor's business ends, whichever is earlier. 11 U.S.C. § 507(a)(4).	\$			
	☐ Taxes or penalties owed to governmental units. 11 U.S.C. § 507(a)(8).	\$			
	☐ Contributions to an employee benefit plan. 11 U.S.C. § 507(a)(5).	\$			
	Other. Specify subsection of 11 U.S.C. § 507(a)() that applies.	\$			
	* Amounts are subject to adjustment on 4/01/19 and every 3 years after that for cases begun on or aft	er the date of adjustment.			
Part 3: Sign Below					
Part 3: Sign Below					
The person completing this proof of claim must sign and date it. FRBP 9011(b).	Check the appropriate box:				
If you file this claim	I am the creditor's attorney or authorized agent. I am the trustee, or the debtor, or their authorized agent. Bankruptcy Rule 3004.				
electronically, FRBP 5005(a)(2) authorizes courts to establish local rules	Lomp a guaranter, surely, endorser, or other codebtor, Bankruntcy Rule 3005				
specifying what a signature is.	I understand that an authorized signature on this <i>Proof of Claim</i> serves as an acknowledgment amount of the claim, the creditor gave the debtor credit for any payments received toward the description.	that when calculating the ebt.			
A person who files a fraudulent claim could be fined up to \$500,000, imprisoned for up to 5	I have examined the information in this <i>Proof of Claim</i> and have a reasonable belief that the information and correct.	ormation is true			
years, or both. 18 U.S.C. §§ 152, 157, and	I declare under penalty of perjury that the foregoing is true and correct.				
3571.	Executed on date OB 07 2011				
	RBnan and				
	Print the name of the person who is completing and signing this claim:				
	B. Bling Card				
	Name First name Middle name Last name				
	Vice President-tinance				
	Company Identify the corporate servicer as the company if the authorized agent is a servicer.				
	Address ABAI Adams Road				
	Number Street TN 373	13			
	Contact phone State State ONOr	rcard@			

Cardmonroe.com



Card-Monroe Corp. Statement of Account

Case# 17-41677-mga

10260

Beaulieu - Corporate Group

Statement Date

8/2/2017

Document No	Document Type Document No	te Apply Document	Doc Date	Due Date	Customer PO No.	Document Amt	Remaining Amt
128377	Inv	128377	12/9/2016	1/8/2017		192.37	192.37
128920	Inv	128920	1/9/2017	2/8/2017	17000256-OP	2,424.40	2,424.40
129036	Inv	129036	1/13/2017	2/12/2017	17000312-09	440.40	440.40
129125	Inv	129125	1/18/2017	2/17/2017	1700416-OP	419.60	419.60
129262	Inv	129262	1/26/2017	2/25/2017	17001159-OP	1,705.80	1,705.80
129266	Inv	129266	1/26/2017	2/25/2017	17000641-09	330.90	330.90
129284	Inv	129284	1/27/2017	2/26/2017	17001225-OP	130.85	130.85
129287	Inv	129287	1/27/2017	2/26/2017	17001106-OP	5,440.00	5,440.00
129308	Inv	129308	1/30/2017	3/1/2017	17001225_op	60.50	60.50
129354	Inv	129354	1/31/2017	3/2/2017	17001359-OP	118.75	118.75
129392	lnv	129392	1/31/2017	3/2/2017	16013194-OP	1,135.60	1,135.60
129474	Inv	129474	2/3/2017	3/5/2017	17001543-OP	3,582.20	3,582.20
129493	Inv	129493	2/6/2017	3/8/2017	17000909-09	957.90	957.90
129527	lnv	129527	2/7/2017	3/9/2017	17001716-op	781.16	781.16
129642	Inv	129642	2/14/2017	3/16/2017	16013194-OP	2,292.45	2,292.45
129661	Inv	129661	2/14/2017	3/16/2017	17001114-09	330.90	330.90
129731	Inv	129731	2/17/2017	3/19/2017	17002194-OP	1,582.60	1,582.60
129780	Inv	129780	2/21/2017	3/23/2017	17000995-09	70.00	70.00
129781	Inv	129781	2/21/2017	3/23/2017	17000865-09	610.00	610.00
129854	Inv	129854	3/31/2017	4/30/2017	17002579-OP	17,600.00	17,600.00
129881	Inv	129881	2/28/2017	3/30/2017	17002695-OP	1,254.00	1,254.00
129965	Inv	129965	3/3/2017	4/2/2017	17001484-09	590.00	590.00
130012	Inv	130012	3/7/2017	4/6/2017	17001532-09	71.25	71.25
130013	Inv	130013	3/7/2017	4/6/2017	17001511-09	125.20	125.20
131993	Inv	131993	6/12/2017	7/12/2017	17006516-op	786.00	786.00
132090	lnv	132090	6/30/2017	7/30/2017	17006516-OP	612.85	612.85
							43,645.68

Bankruptay



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

128377

Date:

12/9/2016

Due Date:

1/8/2017

Page:

1 of 1 Fax: (423)842-9572

Sold To: 10260

Beaulieu - Pilot Plant (#040) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Pilot Plant (#040) Beaulieu Group LLC 201 Princeton Blvd. Adairsville GA 30103

USA

PO Number:

Entered by: LindaCard

Terms: Net 30 Days

Ordered by:

Ship Via:

Ship Date: 12/9/2016

Order:

0

Sales Person:

Part Number/Description Quantity Unit Price **Ext Price** 1 misc Yarn for Samples - Customer's Matieral 0.00 0.00 1.00 EA Attention: Sydney Blincoe 455 lbs. -- 49" x 42" x 58" cardboard boxes on pallet UPS Freight #175 458 964

> Subtotal Freight

0.00 192.37

Tax

0.00

Total:



4841 Adams Road Chattanooga (Hixson), TN 37343

INVOICE

128920

Date:

1/9/2017

Due Date:

2/8/2017 1 of 1

Page:

Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722

USA

Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705

USA

PO Number: 17000256-OP

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 14526

Ordered by:

Ship Via: CMC Del Truck

Order:

144077

Sales Person:

Ship Date: 1/9/2017

Line	Part Number/I	Description	Quantity	Unit Price	Ext Price
1	200991-01	Module,NdI,CMC,LP-RH,1/8,Type 2,10-32,HK01 RWBZ 853836	20.00 EA	56.91	1,138.20
2	2 200504-00	Module,Lpr,LP-RH/LH,CMC,1/16,566-RH/LH-1/4 STG 854475	20.00 EA	64.31	1,286.20

Subtotal 2,424.40 Freight 0.00 0.00 Tax

Total:

2,424.40



4841 Adams Road Chattanooga (Hixson), TN 37343

INVOICE

Due Date:

129036

2/12/2017

Date: 1/13/2017

Page: 1 of 1

Fax: (423)842-9572

Sold To: 10314

Beaulieu - Seretean (#830) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Seretean (#830) Beaulieu Group 1510 Coronet Drive Dalton GA 30722 **USA**

PO Number: 17000312-09

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 14622 Order:

144168

Part Number/Description

Ordered by:

Ship Via: CMC Del Truck

Sales Person:

Ship Date: 1/13/2017

1 515167-00

Clamp, Needle Bar, 1.125Sp, Chamfered (JMC)

60.00 EA

Quantity

7.34

Unit Price

440.40

Ext Price

Subtotal 440.40 0.00 Freight 0.00 Tax

Total:



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

129125

Date:

1/18/2017

Due Date:

2/17/2017

Page:

1 of 1

Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722 USA Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705 USA

PO Number:

1700416-OP

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip:

14689

Ordered by:

Ship Via: CMC Del Truck

Order:

144232

Sales Person:

Ship Date: 1/18/2017

 Line
 Part Number/Description
 Quantity
 Unit Price
 Ext Price

 1
 200971-00
 Module,RF,CMC,CP,1/10,Cham.,0.4mm
 20.00 EA
 20.98
 419.60

 Wire,CMC Label&Tab,852965
 419.60
 419.60
 419.60
 419.60

Subtotal Freight Tax **419.60** 0.00 0.00

Total:



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

129262

Date:

1/26/2017

Due Date:

2/25/2017

Page:

1 of 1 Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722 **USA**

Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705

USA

PO Number: 17001159-OP

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 14812

Ordered by:

Ship Via: CMC Del Truck

Order:

144354

Sales Person:

Ship Date: 1/26/2017

Line	Part Number/D	Description	Quantity	Unit Price	Ext Price
1	200504-00	Module,Lpr,LP-RH/LH,CMC,1/16,566-RH/LH-1/4 STG 854475	20.00 EA	64.31	1,286.20
2	2 200971-00	Module,RF,CMC,CP,1/10,Cham.,0.4mm Wire,CMC Label ,852965	20.00 EA	20.98	419.60

Subtotal 1,705.80 Freight 0.00 0.00 Tax

Total:

1,705.80



4841 Adams Road Chattanooga (Hixson), TN 37343 **INVOICE**

129266

Date:

1/26/2017

Due Date:

2/25/2017 1 of 1

Page:

Fax: (423)842-9572

Sold To: 10402

Beaulieu - Eton (#520) P. O. Box 1248 Dalton GA 30722 **USA**

Ship To:

Beaulieu - Eton (#520) Beaulieu Group LLC 3620 Highway 411 North Eton GA 30724

USA

PO Number: 17000641-09

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip:

14810

Ordered by:

Ship Via: CMC Del Truck

Order:

144349

Sales Person:

Ship Date: 1/26/2017

Part Number/Description

Unit Price **Ext Price**

1 200483-00

Line

10.00 EA

Quantity

330.90

Module,Lpr,LP-RH,CMC,1/10,w/Ga.Tab&CMC Label 854762

33.09

Subtotal Freight Tax

330.90 0.00 0.00

Total:

330.90 USD



4841 Adams Road Chattanooga (Hixson), TN 37343

INVOICE

129284

Date: Due Date:

1/27/2017 2/26/2017

Page:

1 of 1

Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705 USA

PO Number: 17001225-OP

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 14835

Ordered by:

Ship Via: CMC Del Truck

Order:

144375

Sales Person:

Ship Date: 1/27/2017

Line Part Number/D	Part Number/Description		Unit Price	Ext Price
1 414021-00	Coupling Half SPIDER GEAR,1064509,GR-28 (LP90)	5.00 EA	23.75	118.75
2 410584-00	Pin,Dowel,1/2x3in	5.00 EA	2.42	12.10

Subtotal 130.85 0.00 Freight 0.00 Tax

Total:



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

129287

Date:

1/27/2017 2/26/2017

Due Date: Page:

1 of 1

Fax: (423)842-9572

Sold To: 10402

Beaulieu - Eton (#520) P. O. Box 1248 Dalton GA 30722 **USA**

Ship To:

Beaulieu - Eton (#520) Beaulieu Group LLC 3620 Highway 411 North Eton GA 30724

USA

PO Number: 17001106-OP

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 14847

Ordered by:

Ship Via: CMC Del Truck

Order:

144337

Sales Person:

Ship Date: 1/27/2017

Unit Price **Ext Price** Part Number/Description Quantity Line 5,440.00 1 414203-00 Cone Holder, Heavy Duty, Double Screw 1,600.00 EA 3.40 (Universal)

> Subtotal Freight Tax

5,440.00 0.00 0.00

Total:

5,440.00



4841 Adams Road Chattanooga (Hixson), TN 37343 **INVOICE**

129308

Date:

1/30/2017

Due Date:

3/1/2017

Page:

1 of 1 Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722

USA

Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705

USA

Order:

PO Number: 17001225_op

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip:

14857

Ordered by:

Ship Via: CMC Del Truck

144397 Sales Person: Ship Date: 1/30/2017

Part Number/0	Description	Quantity	Unit Price	Ext Price
1 410584-00	Pin,Dowel,1/2x3in	25.00 EA	2.42	60.50
Needs delivery o	n MORNING RUN			

60.50 Subtotal 0.00 Freight 0.00 Tax

Total:



4841 Adams Road Chattanooga (Hixson), TN 37343 **INVOICE**

129354

Date:

1/31/2017

Due Date:

3/2/2017

Page:

1 of 1 Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705 USA

PO Number: 17001359-OP

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 14872

Ordered by:

Ship Via: CMC Del Truck

Order:

144409

Sales Person:

Ship Date: 1/31/2017

Line	Part Number/Des		Quantity	Unit Price	Ext Price
1	203577-00	Coupling Half SPIDER GEAR,1657305 (AM90) Eurodrive	5.00 EA	23.75	118.75

118.75 Subtotal 0.00 Freight 0.00 Tax

Total:



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

129392

1/31/2017 Date: Due Date: 3/2/2017

> Page: 1 of 1

Fax: (423)842-9572

Sold To: 10402

Beaulieu - Eton (#520) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Eton (#520) Beaulieu Group LLC 3620 Highway 411 North Eton GA 30724

USA

PO Number: 16013194-OP

Entered by: SusanDiamond

Terms: Net 30 Days

Ordered by:

Ship Via:

Order: 0 Sales Person:

Ship Date: 1/31/2017

Line Part Numb	Part Number/Description		Unit Price	Ext Price
1 7000	Service Hours - Domestic	12.16 HR	85.00	1,033.60
2 7100	Mileage	200.00 MI	0.51	102.00

Service charges for James Ledford to work on machine #63 (serial #494) under job # S-44764 on January 19th and 20th.

Subtotal Freight Tax

1,135.60 0.00 0.00

Total:

1,135.60



4841 Adams Road Chattanooga (Hixson), TN 37343

INVOICE

129474

Date:

2/3/2017 3/5/2017

Due Date: Page:

1 of 1

Fax: (423)842-9572

Sold To: 10402

Beaulieu - Eton (#520) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Eton (#520) Beaulieu Group LLC 3620 Highway 411 North Eton GA 30724

USA

PO Number: 17001543-OP

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 14953

Ordered by:

Ship Via: CMC Del Truck

Order:

144482

Sales Person:

Ship Date: 2/3/2017

Part Number/Description Quantity Unit Price **Ext Price** Line 1 801916-060 Needle Bar 2,995.00 2,995.00 1.00 EA Asy,5/32,Clmp,1/4Stg,.125Shk,FYF,Cut, 1248-Holes 587.20 2 515167-00 Clamp, Needle Bar, 1.125Sp, Chamfered (JMC) 80.00 EA 7.34 RUSH - customer needs as soon as possible

> 3,582.20 Subtotal 0.00 Freight 0.00 Tax

Total:

3,582.20



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

129493

Date:

2/6/2017

Due Date:

3/8/2017

Page:

1 of 1 Fax: (423)842-9572

Sold To: 10402

Beaulieu - Eton (#520) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Eton (#520) Beaulieu Group LLC 3620 Highway 411 North Eton GA 30724

USA

PO Number: 17000909-09

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 14965

Ordered by:

Ship Via: CMC Del Truck

Order: 144511 Sales Person:

Ship Date: 2/6/2017

Line	Part Number/I	Description	Quantity	Unit Price	Ext Price
1	413512-00	Hyd.,Pump,108HA32-DLL-1VT-15-05-YZ (for HBL)	1.00 EA	627.00	627.00
2	2 200483-00	Module,Lpr,LP-RH,CMC,1/10,w/Ga.Tab&CMC Label 854762	10.00 EA	33.09	330.90

Subtotal 957.90 0.00 Freight 0.00 Tax

Total:



4841 Adams Road Chattanooga (Hixson), TN 37343

INVOICE

129527

Date:

2/7/2017

Due Date:

3/9/2017 1 of 1

Page: Fax: (423)842-9572

Sold To: 10402

Beaulieu - Eton (#520) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Eton (#520) Beaulieu Group LLC 3620 Highway 411 North Eton GA 30724

USA

PO Number: 17001716-op

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 14985 Order:

144510

Ordered by:

Ship Via: CMC Del Truck

Sales Person:

Ship Date: 2/7/2017

Line	Part Number/D	escription	Quantity	Unit Price	Ext Price
1	731432-14	Puller Roll Guard Asy,24 1/2,Front Section,188 Mch	2.00 EA	111.00	222.00
2	731432-17	Puller Roll Guard Asy,14 Lg,Front Section,188 Mch	2.00 EA	82.04	164.08
3	731433-01	Puller Roll Guard Asy,28 Lg,Back Section,162 Mch	2.00 EA	80.96	161.92
4	731433-14	Puller Roll Guard Asy,24 1/2,Back Section,162 Mch	2.00 EA	65.85	131.70
5	731433-17	Puller Roll Guard Asy,14 Lg,Back Section,188 Mch	2.00 EA	50.73	101.46

Subtotal 781.16 Freight 0.00 0.00 Tax

Total:



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

129642

2/14/2017 Date: Due Date: 3/16/2017

> Page: 1 of 1

Fax: (423)842-9572

Ext Price

Sold To: 10402

Beaulieu - Eton (#520) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Eton (#520) Beaulieu Group LLC 3620 Highway 411 North Eton GA 30724

USA

Quantity

PO Number: 16013194-OP

Entered by: LindaCard

Terms: Net 30 Days

Ordered by:

Ship Via:

Unit Price

Order: 0 Sales Person:

Ship Date: 2/14/2017

Part Number/Description 1 7000 Service Hours - Domestic 25.17 HR 85.00 2,139.45 2 7100 0.51 153.00 Mileage 300.00 MI

Service charge for James Ledford to work on machine #63 (serial number #DF-104488-494) under job number S-44768 on February 1st, 2nd and 3rd

> Subtotal Freight Tax

2,292.45 0.00 0.00

Total:

2,292.45



4841 Adams Road Chattanooga (Hixson), TN 37343

INVOICE

129661

Date: 2/14/2017 Due Date: 3/16/2017

> Page: 1 of 1

Fax: (423)842-9572

Sold To: 10402

Beaulieu - Eton (#520) P. O. Box 1248 Dalton GA 30722 **USA**

Ship To:

Beaulieu - Eton (#520) Beaulieu Group LLC 3620 Highway 411 North Eton GA 30724

USA

PO Number: 17001114-09

Order:

Packing Slip: 15100

144640

Entered by: LindaCard

Ordered by: Sales Person:

Terms: Net 30 Days

Ship Via: CMC Del Truck Ship Date: 2/14/2017

Line	Part Number/I	Description	Quantity	Unit Price	Ext Price
•	1 200483-00	Module,Lpr,LP-RH,CMC,1/10,w/Ga.Tab&CMC Label 854762	10.00 EA	33.09	330.90

Subtotal 330.90 0.00 Freight 0.00 Tax

Total: 330.90



4841 Adams Road Chattanooga (Hixson), TN 37343

INVOICE

129731

Date:

2/17/2017

Due Date:

3/19/2017 1 of 1

Page:

Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722 **USA**

Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705 USA

PO Number: 17002194-OP

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 15161

Ordered by:

Ship Via: CMC Del Truck

Order:

144708

Sales Person:

Ship Date: 2/17/2017

Line	Part Number/Des	scription	Quantity	Unit Price	Ext Price
1	514098-00	Sleeve,Push Rod Foot,3	40.00 EA	15.01	600.40
2	521555-00	Shifter Bracket, Omni Graph, 4.875 O.A.L.	4.00 EA	198.00	792.00
3	512594-00	Sleeve,Push Rod Foot,.9375,(CMC FURNISHES MAT'L)	20.00 EA	9.51	190.20

1,582.60 Subtotal 0.00 Freight 0.00 Tax

Total:

1,582.60



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

129780

Date: 2/21/2017

Due Date: 3/23/2017

Page: 1 of 1 Fax: (423)842-9572

Sold To: 10314

Beaulieu - Seretean (#830) P. O. Box 1248 Dalton GA 30722 USA Ship To:

Beaulieu - Seretean (#830) Beaulieu Group 1510 Coronet Drive Dalton GA 30722 USA

PO Number: 17000995-09

Packing Slip: 15201

00995-O9

Order: 144749

Entered by: LindaCard

Ordered by: Sales Person: Terms: Net 30 Days

Ship Via: CMC Del Truck Ship Date: 2/21/2017

Line Part Number/Description		Quantity	Unit Price	Ext Price
1 410127-00	Bushing,SS-1624-12 (P-52-6)	50.00 EA	1.40	70.00

Subtotal 70.00 Freight 0.00 Tax 0.00

Total: 70.00



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

129781

2/21/2017 Date:

Due Date: 3/23/2017

Page:

1 of 1

Fax: (423)842-9572

Sold To: 10314

Beaulieu - Seretean (#830) P. O. Box 1248 Dalton GA 30722 **USA**

Ship To:

Beaulieu - Seretean (#830) Beaulieu Group 1510 Coronet Drive Dalton GA 30722 **USA**

PO Number: 17000865-09

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 15202

Ordered by:

Ship Via: CMC Del Truck

Order:

Part Number/Description

144750

Sales Person:

Ship Date: 2/21/2017

1 524201-00

Pin, Wrist, Hook Bar / Rocker Arm

50.00 EA

Quantity

12.20

Unit Price

610.00

Ext Price

Subtotal	610.00
Freight	0.00
Tax	0.00

Total:



4841 Adams Road Chattanooga (Hixson), TN 37343 **INVOICE**

129854

Date:

3/31/2017

Due Date:

4/30/2017

Page:

1 of 1

Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705 USA

PO Number: 17002579-OP

Entered by: LindaCard

Terms: Net 30 Days

Ordered by:

Ship Via:

Order: 0 Sales Person:

Ship Date: 12/31/2017

Line Part N	umber/Description	Quantity	Unit Price	Ext Price
1 20757	-00 Tubing,HDPE,3/8in,Green,CMC-TUFT-TUBE-10	33,000.00 FT	0.16	5,280.00
2 20757	Tubing,HDPE,3/8in,Yellow,CMC-TUFT-TUBE-10	37,000.00 FT	0.16	5,920.00
3 20757	Tubing,HDPE,3/8in,Blue,CMC-TUFT-TUBE-10	40,000.00 FT	0.16	6,400.00

Subtotal Freight 17,600.00 0.00 0.00

Tax

Total:

17,600.00



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

129881

2/28/2017 Date: Due Date: 3/30/2017

> Page: 1 of 1 Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705 USA

PO Number: 17002695-OP

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 15282 Order: 144819

Ordered by:

Ship Via: CMC Del Truck

Sales Person:

Ship Date: 2/28/2017

Line Part Number/De	escription	Quantity	Unit Price	Ext Price
1 413512-00	Hyd.,Pump,108HA32-DLL-1VT-15-05-YZ (for HBL)	2.00 EA	627.00	1,254.00

1,254.00 Subtotal 0.00 Freight Tax 0.00

Total:

1,254.00



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

129965

Date:

3/3/2017

Due Date:

4/2/2017

Page:

1 of 1 Fax: (423)842-9572

Sold To: 10402

Beaulieu - Eton (#520) P. O. Box 1248 Dalton GA 30722 **USA**

Ship To:

Beaulieu - Eton (#520) Beaulieu Group LLC 3620 Highway 411 North Eton GA 30724 USA

PO Number: 17001484-09

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 15339

Ordered by:

Ship Via: CMC Del Truck

Order:

144891

Sales Person:

Ship Date: 3/3/2017

Line	Part Number/I	Description	Quantity	Unit Price	Ext Price
1	410321-00	Hyd.,Pump,108HAS10-DLL-1V-10-YZ,BEDRAIL CLAMP	1.00 EA	590.00	590.00

Subtotal	590.00
Freight	0.00
Tax	0.00



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

130012

3/7/2017 Date:

Due Date: 4/6/2017

> Page: 1 of 1

Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705 USA

PO Number: 17001532-09

144927

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 15375 Order:

Ordered by:

Ship Via: CMC Del Truck

Sales Person:

Ship Date: 3/7/2017

Line Part Number/Description		Quantity Unit Price		Ext Price	
1	410301-00	Brake,Air,Pads,0720-1024,(Pucks)	3.00 EA	23.75	71.25

Subtotal 71.25 0.00 Freight 0.00 Tax

Total:

USD



4841 Adams Road Chattanooga (Hixson), TN 37343 INVOICE

130013

Date:

3/7/2017

Due Date:

4/6/2017 1 of 1

Page:

Fax: (423)842-9572

Sold To: 10314

Beaulieu - Seretean (#830) P. O. Box 1248 Dalton GA 30722

USA

Ship To:

Beaulieu - Seretean (#830) Beaulieu Group 1510 Coronet Drive Dalton GA 30722

USA

PO Number: 17001511-09

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 15376

Ordered by:

Ship Via: CMC Del Truck Ship Date: 3/7/2017

Order:

144926

Sales Person:

Part Number/Description Quantity **Unit Price Ext Price** Sheave, 1VP44, 3/4 Bore, Type 3 (DS-2018) 125.20 1 410694-00 31.30 4.00 EA

> Subtotal Freight Tax

125.20 0.00 0.00

Total:



4841 Adams Road Chattanooga (Hixson), TN 37343 **INVOICE**

131993

Date:

6/12/2017

Due Date:

7/12/2017

Page:

1 of 1 Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705 USA

PO Number: 17006516-op

Entered by: LindaCard

Terms: Net 30 Days

Packing Slip: 16859

Ordered by:

Ship Via: CMC Serv Tech

Order:

146375

Sales Person:

Ship Date: 6/12/2017

ine	Part Number/Des	cription	Quantity	Unit Price	Ext Price
1	417197-00	Computer,Card,CPU,PIII,1.4GHz,512MB,Rocky-3786,KIT ICP Americ	1.00 EA	786.00	786.00
2	Program-BIOSCM	Needs BIOS/CMOS set for CP or IYF/G.1 or G.2	1.00 EA	0.00	0.00
	per.limi - needs to t	ne programmed for Command Performance with Infinity	,		

Subtotal Freight Tax

786.00 0.00 0.00

Total:



4841 Adams Road Chattanooga (Hixson), TN 37343

INVOICE

132090

Date:

6/30/2017

Due Date:

7/30/2017

Page:

1 of 1 Fax: (423)842-9572

Sold To: 10205

Beaulieu - Commercial(#030) P. O. Box 1248 Dalton GA 30722 USA

Ship To:

Beaulieu - Commercial(#030) Beaulieu Group LLC 1996 Highway 225 South Chatsworth GA 30705 USA

PO Number: 17006516-OP

Entered by: SusanDiamond

Terms: Net 30 Days

Ordered by:

Ship Via:

Order: 0 Sales Person:

Ship Date: 6/30/2017

Line Part Numb	er/Description	Quantity	Unit Price	Ext Price
1 7000	Service Hours - Domestic	6.61 HR	85.00	561.85
2 7100	Mileage	100.00 MI	0.51	51.00
Service charg	es for Doug Neal to work on machine #24 (serial # 1210)) under job # S-50259 or	June 14th.	

612.85 Subtotal 0.00 Freight 0.00 Tax

Total:

IN THE UNITED STATES BANKRUPTCY COURT FOR THE NORTHERN DISTRICT OF GEORGIA ROME DIVISION

IN RE:)	CHAPTER 11
)	
BEAULIEU GROUP, LLC, et al.,)	Jointly Administered Under
)	CASE NO. 17-41677-mgd
Debtors.)	
)	

NOTICE OF COMMENCEMENT OF BANKRUPTCY CASE, MEETING OF CREDITORS, AND DEADLINES

A Chapter 11 bankruptcy case concerning the debtors listed below was filed on July 16, 2017.

You may be a creditor of one or more of the debtors. This notice lists important deadlines. You may want to consult an attorney to protect your rights. All documents filed in this case may be inspected at the bankruptcy clerk's office at the address listed below. NOTE: The staff of the bankruptcy clerk's office cannot give legal advice.

See page 3 for important explanations.

DEBTOR	ADDRESS	CASE NO.	TAXPAYER I.D.
Beaulieu Group, LLC	1502 Coronet Drive Dalton, GA 30722	17-41677-mgd	58-2272636
Beaulieu of America, Inc.	1502 Coronet Drive Dalton, GA 30722	17-41678-mgd	58-1299706
Beaulieu Trucking, LLC	1502 Coronet Drive Dalton, GA 30722	17-41680-mgd	58-2510383

Meeting of Creditors

August 23, 2017, at 1:00 p.m. Meeting Room 111 United States Courthouse 600 East First Street Rome, Georgia 30161-3187

Deadline to File a Proof of Claim

No deadline to file a proof of claim has been set. You will receive notice of the deadline when it is set by the Court. See the explanation concerning Claims on page 3. Proofs of glaims may be filed with American Legal Claim Services, LLC ("ALCS"), the claims agent approved by the Court, via United States mail, overnight service or hand delivery at the following address:

If by Mail:	If by Overnight or Courier:
BEAULIEU GROUP, LLC, et al. Claims	BEAULIEU GROUP, LLC, et al. Claims
c/o ALCS	c/o ALCS
PO BOX 23650	5985 RICHARD ST STE 3
JACKSONVILLE FL 32241	JACKSONVILLE FL 32216

PLEASE TAKE NOTICE that pursuant to Bankruptcy Code § 1111(a), a proof of claim or interest is deemed filed for any claim that appears in the debtors' schedules unless the claim is scheduled as disputed, contingent, or unliquidated. The debtors' schedules are expected to be filed on or about August 15, 2017. They may be examined during normal business hours at the office of the bankruptcy clerk, whose address appears below.

Attorney for the Debtors

J. Robert Williamson, Jr.
Ashley Reynolds Ray
Scroggins & Williamson, P.C.
One Riverside
4401 Northside Parkway
Suite 450
Atlanta, GA 30327

Creditors May Not Take Certain Actions

The filing of a bankruptcy case automatically stays certain collection and other actions against the debtors and the debtors' property. If you attempt to collect a debt or take other action in violation of the Bankruptcy Code, you may be penalized.

Address of the Bankruptcy Clerk's Office:	For the Court:
600 East First Street	
Room 339	
Rome, Georgia 30161-3187	
Telephone number: (706) 378-4000	
Hours Open: Monday – Friday, 8:00 a.m. to 4:00 p.m.	

This envelope is for use with the following services:

LTR

UPS Next Day Air®
UPS Worldwide Express™
UPS 2nd Day Air®

Do not use this envelope for:

UPS Worldwide Expedited⁶

UPS Ground

UPS Standard

UPS 3 Day Select®

Apply shipping documents on this

)-PICK-UPS® (1-800-742-5877) a drop off location near you.

oress Envelopes may only contai and/or electronic media, and m elopes containing items other th B oz. will be billed by weight.

ised only for documents of no co ≥ctronic media as documents. Vi: our shipment is classified as a do

5 Express Envelope must weigh 8 ore than 8 oz. will be billed by we

mmended for shipments of elect tion or breakable items. Do not s

CEIVED

G Q 8 2017

an Legal Claims

LINDA CARD (423) 842-3312 CARD-MONROE CORP. 4841 ADAMS ROAD HIXSON TN 37343

SHIP TO:

BEAULIEU GROUP LLC ET AL. CLAIMS AMERICAN LEGAL CLAIMS SERVICES LLC SUITE 3 5985 RICHARD STREET

JACKSONVILLE FL 32216-5926



UPS NEXT DAY AIR
TRACKING #: 1Z 308 079 01 6959 5439

1

1 OF 1



BILLING: P/P

RECEIVED

AUG 0 8 2017

REF 1:6410-1-720

American Legal 60 00.04 07/2017

SEE NOTICE ON DEVIASE regarding NPS Terms, and notice of function of liability. Where allowed by law, shippor authorizes NPS to act as forwarding agent for export tumbed in outcome playment if exposted from the US, shippor metales that the commendate, to develop for software were exported from the US, shippor metales that the commendate, to develop for software were exported from the US, shippor metales that the commendate, to develop for software were exported from the US, shippor metales that the commendate, to develop for software were exported from the US, shippor metales that the commendate to develop for software were exported from the US, shippor metales that the commendate to develop for software the use of the US.

ou for more than 100 years United Parcel Service.





